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v53,/C 65mg|t43/C 65mg|t43/C 51mg|t43/C 54mg|t43/C 43mg[EH3C 55mg|t43/C 41mg
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L43VB1 0.54mg|t43VB1 1.13mg|[E43VB1 1.0lmg[E43VB1 0.45mg|t43VB1 0.57mg|t43VB1 0.69mg|t43VB1 0.55mg
v43/B2 1.11mg|t43VB2 0.96mg|E43/B2 0.79mg[E43/B2 0.69mg[E43/B2 0.81mg|E43/B2 0.65mg[E43/B2 0.78mg
v53,/C 30mg|t43/C 102mg[E#30C 94mg|E43/C 40mg[E#3C 64mg|t 43/ C 52mg|t 43/ C 68mg
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LH3/B2 0.93mg|E43B2 0.69mg|E43B2 0.71mg|E43B2 0.73mg|E43B2 0.86mg|t43B2 0.75mg|t43B2 0.67mg
t'43C 32mg|E43/C 54mg|E43/C 63mg|E43/C 7lmg|E43/C 46mg|E43/C 31lmg|E43/C 48mg




4/5

BEA)
S 006506 B22H(3)[ 5 #106F06 H 238 (H)|$#1065£06 824 H (B)|[$#106E06 A 25 B (M) £ #106206 A 26 H(UK)| 5510606 A 27 H(K)| £ #106506 H 28 H(£)
(80 [*(65) >k (65) >k (65) > (65) IR (D)=D) >k (65) >k (65)
IIINAEDZF Mz |IFET TERMz (FyLoE) PREU(Z) TL—rF ALY EH(BAME) FiZL
ene v (HL3E) Ryt (Lo L) By (T44) mReyt- (FE%K) gL AA—T (R R T B o EE) Rt (2D X)
== == == == == = ==
S000F (E1F) S0 (L%) SO ok S0 (F DY) S00F (DVi=F) S0 0
B | B EAASHER £ (65) k (65) £ (65) £ (65) RIAHL — F—RA
IR IS X (SAF) R H e fl e X AL ~T-1 HTTNTH [
T —h £ &t (KRIRBAUEEOY ()T 2) A=t FirEod (- AHa—e—E)— TP —h
it — H(IM) H HeDW) (EA5)
KT TH TP =K (SEIBY-) |[7A—> FAB A
H (LB 9E) 7 )L—> (k)
i P P ) B B B B B
A |k (65) > (65) > (65) > (65) > (65) > (65) > (65)
A=z )L FEBEX A HEEE KARE f DR BEX WRE G5 OB IR Z (5) =D —fEx
&bt BE(VIXH) onofe fHFE 8 G~y 70 B AT ASER D, ROZHE (KIR) AT A INDEY
TP IR DO {mE: 7=\ ASCRPF-NON AP IR O {mE: KON, ARV
2 ONIrE G OLE
TXIVF — 1549kcal [Zp1% — 1614kcal [Z1% — 1614kcal [z — 1619kcal [z % — 1515kcal [zpv% — 1557kcal |z % — 1540kcal
HEHE 47.3g|BRHE 55.1g|dEHE 49.6g|FR HE 51.8g|HEHE 49.7g|FRHE 55.3g | HE 5l.7g
I 639me | h 453mg b 46 1mg |y h 428mg | h 475mg |y h A14mg |y h 442mg
&k 4.2mg |8k 6.7mg |8k 6.5mg |8k 5.5mg|#k 5.8mg|#k 6.8mg |8k 5.5mg
B hmTy 5633 1 g| B ATV 1020 u g| B a7V 5794 1 g| B BTV 1202 u g| B Ty 4028 u g| B BTV 579 1 g| B ATV 1567 u g
L'43B1 0.43mg|E43VB1 0.5mg|E43VB1 0.51mg|E43VB1 0.44mg|E43VB1 0.7mg|E43VB1 0.7mg|E43VB1 0.62mg
v43/B2 0.88mg[E43/B2 0.93mg[E43/B2 0.77mg|E43/B2 0.92mg|E43/B2 0.95mg[E43/B2 0.7mg|E43V/B2 0.67mg
b4 C 89mg|k 43/ C 53mg|t43/C 60mg|t43/C 27mg|t43/C 31lmg|t43/C 61mg|t43/C 55mg
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